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Poct A

True or false"
7. DE is contamed in plane gq. fV u,o
8. AC and FA are the same line.
9. 4B and DE interséct in pomt,@"
10. B, C, and E are mencoplanar.
11. Point B is the intersection of 4B and plane q. hrae
12. Thei tersegtlon of AF and plane g is point C. A4
13. fgg"es through point E. L4 /se
14. Pomt A and plane g do not intersect. fyae
15. DE contains point B. Ernt

Draw and label each figure described below. Use a strai,.ghtedge.

16. MN lying in plane r and point 17. TU intersecting plane g in point V
P in plane r but not on MN — - '
18. AB and CD lying in plane g such that AB 19 ﬁ’, EG, and EH intersecting_plane p in \(
and CD intersect at point E points F, G, and H, respectively
20. MN not mtersectmg plane r with MQ in- 21. noncollinear points 4, B, and C lying in Iy
tersecting plane r in point O plane p with %5 intersecting plane p 11)

23, Given: IJ bisects 2HIK, m LHIK= é/s’ 23. Given: KL bisects ZMKN, m £MKL =
and m uuc— 3x+ 15. 224 sxﬂb 5x+3,and m £LKN = 6x —4. Find
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Using linear pair, vertical angles, corresponding angles, consewve angles, alternate interior angles, and
i o

alternate exterior angles: j@ i ///ﬂ Sueas
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1) Explaln ossibletojumpfrom<Sito~3-
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2) Find a path from £1 to £10 that uses at least 5 jumps
{ie: Z1 to Z4 by consecutive angles; to £5 by alternate interior angles; ...)

/{@L?l b(/ [(/‘\" So Sulerntats &/ . é A/A'
y AN |//1L [é +0/9 7
p b L5 4/4/4 N / " JG¢ LI0 [/A[ﬂ‘//’&”““&ﬂ

3} Find :if;;atzfrom ll;ﬁthat;ses?rzcal angles twice ‘501/ 9
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4} Find a path from /1 to /10 that uses every angle

5} Find the shortest path from £1 to £10
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